
Model Set-I 

Time-

Biology (Botcu,y} 

Candidates are required to give their answer in 

their own words as far as possible. 

-qtraTTm �� rn � -q. m � � 1 

Figures in the margine indicate full marks. 

'31lIB ct 3Tcn � Plru:tSc � � I 

All questions are compulsory 

� � 3iPlci14 � I 

General instructions: 

Full M 

Q. Nos. 1 to 10 are Multiple Choice /Objective Type each of 1 mark.

Q. Nos. 11 to 13 are very Short Answer{VSA) Type each of 2 marks.

Q Nos. 14 to 16 are Short answer Type each of 3 marks. 

Q Nos. 17 to 18 are Long Answer Type each of 5 marks. 
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Group-A/�-31" 

l. Which of the following cannot serve as vegetative propagule?

(a) A piece of potato tuber with eyes.
(b) A middle piece of sugarcane internode.
(c) A piece of ginger rhizome.
(d) A marginal piece of Bryophyllum.

� � � � � mcrct -;,tr t ? 

(a) 3ffii � � 'PT � � � � "ITT
(b) TA � � 'PT � 1fPT I
(c) ���q51� I
(d) �1.q1f4ie1+=1 "$1 -qm � � cITT 1fPT

2. The growth phase of an organism before attaining sexual maturity is

referred as

(a) Juvenile phase

(c) Both (a) and (b)

(c) (a)� (b) zj-;:rr

(b) Vegetative phase

(d) None of these

3. The filiform apparatus is present in-

(a) synergids

(c) antipodals

(b) egg cell

(d) secondary nucleus

(a) m �1�1451 � (b) � ¢'1�1451 �
(b) �f2tcll1,Hia
(c) ��

10x1 
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4. Genes which code for a pair of contrasting traits are known as-

(a) dominant gene

(c) linked genes

{b) allele 

( d) none of these

� � fcpfTT :rrr � � � � � m � i-

(a) �� (b)�

(c) x·rn&P--1 � (d) � � � "-i51

5. which of the following will result when plant YyRr is self pollinated

(a) 9:3:3:1 ratio of phenotypes only (b) 9:3:3:1 ratio of genotypes o ly

(c) 1:1:1:1 ratio of phenotypes only (d) 1:1:1:1 ratio genotypes only

� YyRr cITT x-<:1,qx1fr1a � � en � � � x=rr qRa11+i 3ITT[Tl1T ? 

(a) 9:3:3:1 �ftrt�� cf5T (b)9:3:3:1 �m-ct�� cf5T

(b) 1:1:1:1 � ftrt � � cf5T (c) 1:1:1:1 � ftrt � � cITT

6. Chromosomal theory of Inheritance was given by-·

(a) Morgan

(c) Hugo de Vries

(b) Sutton and Boveri

(d) Gregor J. Mendel

(b)���

(d)W"R��

7. The term totipotency refers to the capacity of a:

(a) cell to generate whole plant (b) bud to generate whole plant

(c) seed to germinate (d) cell to enlarge in size

(a) � cbl�cbl ����6f1cp1 l(b) � ����&1

(b) � � � cp1 I (d) cbl�lcbl � 3TTcffi � � cp1 I
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8. Which one of the following is not a fungal disease?

(a) Rust of wheat (b) smut of Bajra

(c) Black rot of crucifers (d) Red rot of sugarcane

� � qfy;, � cf>clcBlll � � t -

(a) lT{cITT�

(b) ¢c-.xil 45 x cITT � "xTc

9. The term recombinant DNA refers to

(a) DNA of the host cell {b) DNA with more than one recognit on 

(c) DNA with selectable marker (d) DNA with a piece of foreign DNA

9,.-1 �101--1 DNA cITT � t -

(a) � ¢l�lcf>I cp1 DNA

(b) cRUT <TT1<:l � cf@T DNA

(b)�����cf@TDNA 

(c) DNA f� fcl011e11ll DNA cITT ..:> -gr 

10. The term 'chemical knife' refers to

(a) polymerases (b) cellulases

{ c) ribonucleases (d} endonucleases 

�xilllGicf> "iffcg' � cf5T � t -

(a) qf('Pi�Zil'Ji (b) ��aJ\01

( C) �l��,��Zil'Ji ( d) �'5'1�fct-&i�Ji01
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Group- B/�-� 

(very short answer type questions) 

( 3ITcf � \.i\--1 fl ll Y�) 

11. What are the two key concept of Darwin theory of Evolution?

-slf4.-Jqlc; c#I" � � xi<'hA.-JI� � t ?

0 

12.Define:- (a) climax community 0 

(b) Food chain

� cR - (a)� xi5,c;lll 

(b) 3D6R�

13. Define biofortification with example. 0 

Jlqg�cf5xo1 cm- � cR � ,:3c;1gxo1 �

Group-C /� - � 

(� '-1\-"lflll Y�) 

14. Match the column -I with column-II and select the correct option

from the codes given below

Column-I 

(A) Funicle

( B) I ntegu me nt

(C) Hilum

(a) (A)-(iii),(B)-(i),(C)-(ii)

(b) (A)-(i), (B)- (iii), (C)- {ii)

{c) {A)- (ii), {B)-{i), {C)-{iii)

Column-II 

(i) One or two protective layer of ovule

{ii) Region where body of ovule fu es

{iii) Stalk of ovule.

3 
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�-I 

(A) 45--1"1cf5c1

(B) 3TTcRUT

(C) �

(a) (A}-(iii),(B}-(i),(C)-(ii)

(b) (A)-(i), (B)- (iii), (C}- (ii)

(c) (A)- (ii), (B)-(i), (C)-(iii)

�-II 

(i) � � � m cTT" -maTcn 3TTcRUT

( ii) cffi" � � � 45--1"1cf5c1 �

(iii) � "cf5T �

15. Differentiate between Plasmid DNA and Chromosomal DNA?

16.Define:- (a) Transgenic Animals

(b) Plant breeding

(c) Somatic hybridization

(b)-qrqq�

( ) ' ' . 
c xW-llcfc>iH x-1cbxa1 
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GROUP-D /� - °G 

(Long answer type questions) 

("M '1i1 xi� 11"R) 

17. Describe Air Pollution and its Control.

cWl � � � PP��OI cpl � �

OR/&� 

Describe loss of biodiversity and its causes. 

"d=fq fctFclmrr cpl° aITd � � � cpl° � � 

05 

18.Discuss Mendel's law of Independent Assortment with suitable exam le 0 

� � � �q<:2{5--1 � � cf5l" '3�16'<!01 x=rf%c=r � � I

OR I&�

Describe Megasporogenesis 
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